DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

DIVISION oo |
21 46.63 + (—0.1) = 156 9788 + (—2) =
22 —4.104 = (—0.09) = 11 —317.25 =+ 0.09 =
23 —16.212+04 = 39 3.803 + (—0.05) =
1) —9994 = & — 139 —475.76 + (—0.8) =
25 —336.42 =+ 0.6 = uo) —=57.708 = (—=0.9) =
126) —385.65 = 0.9 = 1) —23.98 = 0.05 =
1 148 + (=0.4) = 142) - —8.959 + 0.01 =
25 416.07 = (—=9) = 1) 4.403 = 0.7 =
29) —15285 + (—=5) = uy —89.61 + (=3) =
50 62.848 + 0.08 = w) —363.3 + (=7) =
B 6.788 + 0.2 = ) 106.9 =2 =
132 2.6529 = 0.03 = un 6,458 + (—0.1) =
33 5504 + (—4) = ) 2.5923 +0.03 =
1519 1.545 =+ 0.05 = 1) —88.56 + 0.2 =
35 —=70.49 + (—0.1) = 150) —9715 + 1 =

Mathematics: Division - Level 6 - Horizontal - Set 3

16


https://www.workulum.com

